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Cotshy Foorsos
Poo

Gaow

Shitany Carporation isues 10,000 shares af $30 par value preferred stock
for cash at 70 per share. The eniry to record the transacion will comsistaf
 debitto Cash for $700,000 and a credit ur eredits t0

fered Stock for $700,000.

fered stoeks for §500,000 and Paid-in Capital in Exces of Par
Valte—Preferred Stock for $200,000.

. Preferred Stock for $500,000 and Retained Earings for $200,000.
. Paicin Capital from Preferred Stock for $700,000

Bella Company is s publicly held corparation whose $1 par value sock is
actively traded ( hus & markes value) at $30 per share. The company issucd
3,000 shares of stock f0 acquire land recently advertsed at 100,000 When

g s scion, el Compey il b o o
& delLand e S100 00, _ co e
b S S, <00 i
2 S vre Yoo

credit Paid-In Capital th Excess of Pa for $98,000.

7. Treasury stock which was purchased for §3,000 is sold for §
resultof these two transactions combined

. ncome will be icrsssd by $500
B sockholders eqity will e it by 53500
Soektolders equlty will e inressed by S50
& sockhlcars sy il ot chanes

A corporaton ssues 1800 shars of onmon stock for § 12000, The tock ]
e e
issuance wouldinlde a cedi t Common Stock or

m 50!
2515000 27
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Question 1 (25 points)

Presented below are 7 independentsituations:

1 anid which should he expensed).

penditures should be capitatized

e the following expenditures for e purchase and usc of @

1y Sinokrot Company incu
factory in Hebron-

‘machine for the company's
Pace an X in the appropriate box © fndies(e which expenditures should be capitalized &5
machine and which should be expensed: (4 points)

50,000 invoice price ‘of the machine

SO R T e o
Transit of the machine X

$5,000 insurance during

$3,500 for nstallation of the machine \é
|

$T,000 for testing the machin
irance costs for the st year of operdtions 3
cate the machine X

2,200 for
73,000 i powee coss ot e year 0 0P

52,000 for ordinary repairs and mAlNenance ‘on the machine.

for the year
$4,000 for an overhau
cfficiently

Tt make the machine run more

—
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4 et unde

2 On Sptembe 1, 201, Rabih Company pichased manufacting e

550,000, The equipment has 3 4-year esimaed uscful s and a salvage vlue or85,000,

e e xipment o 30000 o duro s usful e
e g 1 v DO

s the bl below tocaleulte he depreistion cxpens or 2016 uder the flli.

depreciation methods: (6 polat)

I
e

siteaion# e

(Caleolate the amoust of Goodel) W/P’ﬁ g

3 PalFit Company pchased e et assts o T Finss Company for $385,000 on December

A 2015, The i okt valu of e nile st ol T Co 155260000, @ piat)

o vale signed o oodwiliss_12Gee 7
: N

thﬂlﬂw
Y o@ i Univrsty puschsed he copyrght 0 Bissan Computer atorisls
or 31,000 T s estimatd that the copycight il e  uscfal i o § years with mn esimated
e e s S50 G
mwdwﬂnwmyw for the year 2016 would be'S.

<

(e
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5) Jaber Mining Company purchased a mine on January_L, 2016 for $70_million which is

estimated to have 2,000,000 tons ofore and a salvage valuc of $10 million

1o the firstyear 150,000 tons ofor ar extraced but only 130,000 tons e sold, and 20,000 s
emained unsold n warehouses, reparethe jourma €y o record depleon expe for

the firstyear. (3 points) 272

Sanoear o€
fec - Deplation

(Calculate (BV/Gain(LossyCost of new sssetlon exchany
 On JanuaryL, 2016, Raha Tours Company exchanged.its offce equipment and.paid cash
59,000 fornew ofice equipment.The od offce cquipment oignally cost 35,000 and bad
Sccumulated depreciation to the date of disposal of $11,000. It is estimated that the fair

‘Book Valuc

Gain/(Los) on disposal A S (om0) |

Cost of new office equipment = 7 Toreee

Situation #7

(Caleolate Gain/(Losslamount.

7 Asbah Company's delivery rck, wich orginlly dast $42000,was destroyed by e AL e
i of the fir, the balance of the Accumilated Depreciation acEount amounied o
75,500, The company recived 18,000 ripuesementfom is nsurnce compery.

@ potats) 0

mnwtlnu)mm.nmuom:ﬁnusilg%’
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Presented below are 3 independent situations:

Situation#1
Abu Afia restaurant is involved in a lawsuit as a result of food poisoning o o of the customer. The
Iawsuit was filed on October 31, 2016, and claims darmages of $50,000.

Selct the proper accounting treatment code/s from the sbove table for each of the following probbiltes.
(4 poiats)

1. Assume instead that at December 31, 2016, Abu Afias attomeys
feel it is reasanably possible that Abu Afia will lose the lawsuit and C

be required to pay $50,000.
2. At December 31, 2016 Abu Afia's Attorneys feel it i remote that

Abu Afin will lose the lawsuit.
3. Assume instead that at December 31, 2016, Abu Afia’s atomeys B
feel it is probable that Abu Afia will lose the lawsuit and be A

required to pay $50,000.

Company sells televisions with a one-year warranty. Past experience indicates that 3% of
the units sold will be retumed during the warranty period for repairs. The average cost of repairs
under warrantyis estmated o be $50 pe uni. During 2016, 6000 units wers sold t an average

Sbi

price of §400) During the year,repairs were made on 50 uits at a cost of $2,500. @ point)

1) Prepare the requircd adjusting entry fo the year ended December 31, 2016. (2 polats)
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A

2) Prepare the entry to record the repair costs incurred i 2016 to honce warrmty contrcts
0n 2016 sals. @ poiats)

Uil Company billd its customers  total f S575000 for the month of March. The toal
: sales tax @ polats) ot

Fillinthe blanks with the spproprite amount:

1) The proper ot of sles evere 0 tepor o the month of Mrch s 5_ o e

2) The proper amount of smles tax paysble o report for the month of Murch is

/

s_2ioce
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Question 3 (15 paints)

‘The adjusted ial balance of the Maber and Tamer Paroership for the year ended December 31

2016, appears below:
MAHER & TAMER PARTNERSHIP
" Adjusted Trial Balance
For the Year Ended December 31, 2016

Current Assets
Fixed Assets

Current Lisbilities

Long-term Debt .

Maher Capital, January 1, 2016
Maher Drawing

Tamer Capital January 1, 2016

Cost of Goods Sold
Operating Expenses -

The parincrship agreement stipulates that a division of partnership net income or net 05 is o be.

‘made as follows:
1. A salary allowance of $10,000 to Maher and $15,000 to Tamer

2. An interest allowance 8% on beginning capital.

i oo 0%e10 b
3. The remainder s to be divided between Maher and Tamer in the ratio of 60% to 4
respectively.

Instructions:
) Maher & Tamer Partnership net (ls)income for the year ended Decermber 31,2016 is
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b) Use the following schedule to show
2 polnts)

the division of net (1oss) incone to each partacr,

Salary allowance

Taterest allowance

Total Salary & Interest Aliowances

Total Division
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Unipal Ieading distributor in Pat
0f $350,000.
Ramallah had 300,000 shares of common sgoe¥ autstanding with  par value of $10 at the
beginning of 2014, i
The following transactions oceurred diing 2013,
1. In 2014, an error has becn discovered i the amount of $80,000 (st of
caused the 2013 inventory to be understated.
2. A cash dividend of 0.7 per share was declared aad paid
3 AL0% stock dividend was 0e
was S18.
4. Net income was 500,00,
Instructions:
Use the following format to P
31,2014

estne ne. reporteg,

) that

Unipal Inc.
Retained Earnings Statement
For the year ended December 31, 2014

E—

ined carmings at December 31,2013,

elived and distibited when the'market price per share

eepare a etained eanings statement for year caded December

$150,000
correriin 08 e undi A e

Ao gy B oI

/Lu” casn Avidan % 2\2, s00

e §B%eio0n

Lessy $7C% A

s Ay pet wewme X Foriee

Retained Earnings December 31
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Question 2 (14 points)

Palvest, Inc.'s corporate chagiefallows it 0 scll 100,000 shares of $1 par value common
stock. During 2014, ts irs{year of business, it 5914 20,000 shages of s common stock 1 $9
per shae. Nel income for 2014 was §13,000 3nd dividemds of £2,000 were declased. 1t
repurchased 200 shares o s stock for $10 per shate. Fill inthe missing amomns i the
apaces provided for both the statement of changes in sharcholders” cquity and the
sharcholders® equity seetion of the balance sheet.

T VYT P—, —
value paidin | Retaied | Tremsry
common | capialin | S
stock | excess of par
Tanuary 1, 2014 balnces S0 0 EI O]
15014 20,000 shares of S1 par S
. value comman stock for $9 per Varee
share
- 7 Repurchised 200 shares of s
S | e
h [ Net ncome oo
o 3 Divideads (e
[ December 31,2074 bances o |l s ool s
Palvest inc
Stockholders' Equity Section
December 31,2014
Common Stock s_|_par yatue,
_lasiea> ¥ ofauthorized shares,
g #ofissucd shares, 221000

Zoyoc0 4900 #ofoutstanding shares.

Additional paid-in capitalin excess of par value-cs
Retained Eamings

L.ss 3 Tressury Stock 202 _# of treasury shares (14>

Total Stockholders' Equity
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Jerusalem pharmaceutical ndustris, Ine. issue
December 31, 2012 and received cash total
90 30 ant Decernbers1) The matury
BeUSES he straightline method of amon
Instructions

izing discounts

E e e
caswn
Bont Pagarrc

Famiom am B 1P

3 o PEreTs

cn

b) Use the following schedule (o calculate the otal dolia
amortization during the first year (6/30/13 thiough 12/

00,000 of 10%, 3. year bonds on

G24,000. The bonds pay ingrestsemiannuatly
atc on hese bonds is December 31,

d pre

). Prepae the issuance ety of bonds on December 31, 2012, (3 points)

Coniono

M ee

r amount of discount of premium
31/13) (2points)

2015, The.

fg

12312012
063072013

54100011 €6 1oms

Interestto | Interest | Premium | Unamortized
bepaid | Expenscto | Amorteaton |
be recorded Reealmn

| wisod | zowms
12312083 |3, || el e

©) Prepare the payment of interest and premiurm a
2013. Gpoints) -

or.
pr

TurerssT e fense
Flemive on 3P

2Cians

Cr Casw

) Prepare the maturity entry of bonds on December 31, 2015.

pec3l prBend Fayable Con

cas\~

mortization eatry of bonds on June 30,

(3points)

o0n

Coo

C\Ciow

1
5

RSN
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@ 538,000
v 12000,
< $59.00
4. Noe.

Pletin Ik bad ot ncome of$147.000. The balaceshet shoed  begianng
2 ending balae insharoldes” iy of TS0.000 s $750,00 e
There were 1o prferred shares and 69,000 cominon shares oultsndi. oy,
the carnings per share. =
o S0.469

® 21
< 50191
d siLe

3 Ondanuary 1, 2009, Alphn Enerprise signed 3 $100,009; 6%, 20.yesr morigage
IoteTo buy a new varehouse. The morgage will b repidin's s of e
‘cqual annul instlimen payments. Over the 20-yearperiod, 4 cach msliaest

The porion o the pyaen | e Forion e

that SUSed 0 reduce the | payment tht s inesess
Frincipal is will expense will

7. Sty thesame Same
X d. Cannot be determine not be determined |

-
4 OnJune 30, 2011, Wassel Co. had outstanding 8%, $3,000,000 face amouat, 15-year
iaturing payable on Jupe 30 and December 31

bonds maturing on June 30, 2021. laerest is
The unamortized balanee in-the boud discount on June 30, 2011 was $135.000 On
June 30, 2011, Wassel made an early redempion by acquiring allof these bands at
<98nd etiing hem. Wi i i ount of i oo s ey tedempionof
nd? =

a. (135000,

b. $135,000.
(@ $45,000.

d. (45,000,

[

PTG
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10 Paltel Group is & publicly held corporsion whose S1_par value stock s actively
t5aded at 520 ber shire. Th company issued 2,000 share of sock 1p acquite 1nd
sécently advetied a1 $30,000. Whe ecording 1 ansacion, Paiel Company will
5 debit Lind for $50,000
b ciedit Common Stock fo $40.000

© debit Land for 540,000
& credi Paid-In Capial n Excess of P Value or $48,000,

Y3

L
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Section I: Exercises(12 paint).

1. A motor van was bought for $20,000 on September 1, 2010 with 3 residual value of

$2.000. Depreciation was charged at 20% by the declining balance mehod on yearly
basis. 1twas sold for $18,000 afte hree years of e on Septeamber 1, 2013

Instruction:

Record the entry for the sale transacion only.

2. On December 31, the capital halances and income rations in Canasta Company
are as follows.

Partner Capital Balance. Income Ratin
100,000 0%
51,000 30

25,000 10
—

Instruction: =

Journalize the following: Sgade is paid $19.000 from partnership assets for his
withdrawal. i 5

v Speda ol 25000

cr. Aeack opil Yoo
L el cogivd  Beoo

cr. cagly \de00
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Multiple cholce Section: (12 points)

“ B
1. What is the purpose of making a provision for. depreciation in the accounts? o
Pt S
o®

) Tomake cash available ta replace plant assets
b) To charge the costof plant d assets against profits
) Tomake a provision for epairs

) None of the above

Gardner Corporation purchased a truck at the beginning of 2010 for §15.000. The
truck s estimated (o iave a salvage value.of $3.000 and  useful lfe.of 120.000
miles. It was driven 18,000 miles in 2010 and 32,000 miles in 2011, Wht i the.

e s e e o 200
a) 10800 $64,200 ¢) $72,000 d) None of the above
3. A plant asset cost S100,000, hac a book value of SA0,000. 1 was sold for S10.000.

at is the balance of accumulated depreciation for that plant asset sold?
360,000 b) $50,000 ©) $30,000 d) None of the above [

4. Which of the following is ot an intangible asset?
a) Copyrights — G Research and development costs

b) Trade name - =44) Franchise

. Arlington Company traded in a manual pressing machine for an automated pressing
machine and gave $6,000 cash. The old machine cost $93,000 and the balance of
accumulated depreciation on the date of exchange was £22.000. The nld machine %

had a fair market value of $60,000. LY
T

Which of the following is the correct journal entry to record the exchange?
a) Equipment 121,000
Loss on Exchange. 22,000
Accumulated Depreciation 93,000
Cash 6.000

=
() Equipment
Loss on Exchange
Accumulated Depreciation
Equipment
Cash

) Equipment
‘Equipment
Cash

) Cash
Equipment
Loss on Exchange
Accumulated Depreciation

Equipment
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e Telugoeap 30 pe

o e By 2 GGG

6. On October 1, 2014, Pe
terest-bearing note. 1 he Pennington Company is preparing.
ember AL 2014, e uing ey for e include &
debit o Interest Expense of S2000¢) - credit 1o Notes Payable of $2.000.
) debit 10 Interest Expense of $3.000, ) credit to Integest Payable of $4.000.

ington Company issucd an $H0.000, 10%. nine-monih
cial statements 3t

7. Madden Electric began operations in 2012 and provides a one year warzaaty on the
of the 200,000 unis sold i 2012 will be

products i sells. They estimate that

Tetumed for repairs and that these repairs il cost S8 et unit. The Costof rEpuifing - ¢

5,000 unit presened forsevic n 2012 s $64,000. Madden should eport £ '

3 Varranty expense of $80,000 for 2012

) no wasranty obligation on December 31, 2012, since this i only a contingent

Hiabilty.

) warranty expense of $16,000 for 2012

(@), warmany labiliyof 0000 on Decen

uber 31,2012,

5, Partners Gary and Elgine bave agreed o share profis and losses in an 89202110
respectiicly.aiter Gary i allowed a atay alfowscce of $30,000 and Elo® 5
s eriars allowance of $15.000. If the partnrship had net income of $30.000
2014, Elaine sharc of the income would be -
512,000, b) $18,000. ¢) $15.000. ) None of the above. o e
v
0 g

9 Hilton Company issued  fou-sessintrestbearing note payablefor $400,
Janoary 1, 2011, Esch January the company i required (0 pay S100.000 on the note-
How wilkthis note be reported on the December 31, 2012 balance sheet? °
si00000.

2 Long-term debt, 5200,000; Longterm debr Gue within one yeat.
b) Long-term debr, $400,000.

&) Long.term debt, $300,000; Long-term debt due within one year, $100.000.
d) Long-term debt, 300,000,

10, Nate is investing in @ partnrship with Deidrc, Nate contributes os part of his initial
vesunent, Accounts Receivable of $60,000; an Allowance for Doubiful Accounts,
orecord Nate's .y

of.$9,000; and $6.000 cash. The eniry that the partrership makes

jaitial contribution includes a X uSee
3)) credit to Nate, Capital for $57,000% @D no e 5= .
credit to Nate, Capital for $66.000.4 \ow) (=) Qs
(&P debit o Allowance for Doubiful Accounts for 59,000, L —/”/i
\ite Do P

) debit to Accounts Receivable for $51,000.,
L. A partr' shar of netincome i recognized n the accouns through

" closing entries. ©) acerual entries.
cormecting entrcs.- adjusting entries. =~

12. Wu and Mannis each sell /3 of their partnership interest to Patel, receiving
$105,000 each. At the time of the ads . each partner has a $315,000 capital

salance. The entry to record the admission of Patel will show a
fi tel, Capital = ~ a®
immwmw o Pallel  uBeesdS

b) ~debit-to-Mannis, Capital for $315,000. .,
it to Wu, Capital for $105,000%

+~ Vs

Zeo

Page3 10 -
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True\False Section: (L1 paints)
-+

1. A change in the estimated useful e of a plant assct may cause & change in the
‘amount of depreciation recogaized in the current and future periods, bat ot 10 PUST_

10 2. Additions and improvements to a plant assct that increase the asscts operating. ,F
clficiency, productive capaity,or expected usefol e are generaly expensed i (he

e
Yy

2
3. The Accumolted Depletio sccoun i dedicted fromth cost f e
fesource in the blance sheet.

4. Uncamed revenues should be cassfed s Other Revenues and Gains 00
Statement.

5. “The higher the sales tax e, the more profit asetal
e

season tickets for $100,000 that represents a fve:
d Ticket Revenue after the second concer is

the Income

ler can camn

6. Metropolitan Symphony sells 200
cancert scason. The amout Jf Udcarnet

$40,000.
Voe -
7. During the monih, a company sells goods fo  total of $54,000, which includes sales
{axes of $4.000; thercfore, the-<qmpany, should recognize S50,000 in Sales Revenucs
$4.000 £t 550,000 in 3z

anc$4,000 in Sales 13 Expen

the estimating of Warranty Expense when products are sold under
imating of Bad Debt Expense based on credit sales.

8 tncomept,
wamanty s similar to the esti

V. 1fa partnership has aJoss forthe period, the closing eniry 10 transfer the 1055 10 the
partners will equire a credit 0 the Income Summary sccount.

0. Salary allowances o patners are 3 maor expense on mot partnership inceme
statements.

LA o el results when the new pariner's capital credit on the date of
admittance is greater than his or her investment in the firm.

o
less s OC

oot
Col

=

el owo 98000 inwskmenk-
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Quizi ACCT230 (
Name:_Lira A\- Bedfer _wMloM2  secuom_\2

1. Cater Co. and Greer Corp. purchased identical plant assets, and both companics
estimated the useful life at 10 years with o salvage value. Caner ses straigh-ine
depreciaton in it financial satements, whereas Gree?hses an acieleriied meihod
)" Over the lfe of the asset,Greer will ecognize more depreciation expense than

Carter.
T ths et yearof wnership,Cater wilecogaiae more depreciion experse
on this asset than Greer
) Iftheasset is old after 4 years, Carteris mor likely (0 report 3 gain than i
Greer
@) None of the sbove. 2

2. Each of the following should be classified as plant and equipment i the balance.
sheet of Chin's Nursery except: ’
) Theoffice buil

% ) Plasts held for resale to customers. (7
b) The office building. -

Land on which the nursery is located

3, Carey Company buys ad for $50,000 on 12/31/13. As of 331/14, he land has._
apprecstedn value 2 $50.70. On 12/31/14,te land has an apprai value of
7" £51,800. Bywhat amouat should the Land account.be increased in 20147

) S0 M&”?ﬁ © $1.100 (@ %1800

4, On January 1, 2 machine with a uscfullie of 3 years and a salvage valus of 33000

wai purchased for S60.000. What s the depreciation expense in year 2under e ¢ ok
uble declining-balznce method? vy
514400 ) SI13.680 @ S9600 ) $9.120 N 2w « nuoso
5. A company decides to exchange old equipment with a book value of $54,000 \ "=

(5100,000 cost less accumulated depreciation of $46.000) plus 86,000 cash for
new equipment (similar asset). The fair market value of the old equipment is
$60,000. The eniry fo record the new equipment would include 2 i
4)_debil to Equipment (old) for $100,000. - §yeoe
debit o Equipment (new) for $140,000. oemy 550 ]
9)_ credit to Equipment (new) for $146,000-
(@) eredit 0 Gain on Di Cesos) ¥

osal for $6,000 <57

6. Mather Company purchased equipment on January 1, 2014 at a total invoice cost of
$336,000; additional costs of $6,000 for freight and $30,000 for installation were.
incurred. The equipment has an estimated szlvage value of $12,000 and an estimated
useful life of five years. The amount of accumulated depreciation at December 31,
2015 f the straight-line method of depreciation is used is:

4) $129600. b) $132,000, (C) $144,000. ¢) $148,800.

334oco

teoa
» 30 oo

g2 e coi
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10 Capita in Excess of Stted Value.

s credited when no-par stock does not have a stted value.
i reporid s part of paid-in capitl o the blanee shect.
eprescnis the amunt oflega capital.

normally has a debit balance.

Dailey Company is  publicly held corporation whose SLgas valus stock is sctively
traded a3 o copary e 3000 FREEl sock o e lnd

recently advertied s 35580, When recording this ransacton, Diiley COny o
will o N ,g’/
@ debic Land for $55,000. S

) credit Commn Stk fo $55,000. s

©) debit Land for $44,000.
) debit Paid-In Capitslin Excess of Par Value for $53,000.

s in 2012 by issuing 25,000 shares of
e -4 65, $10 pur preferied
realic of §12. On its

. Carsors Packaging Corporation began busincss
$3 par common stock for S8 per sharc and 10,000 3
Stock for par. Al year end, the common stock had 3 markel VaILE o
December 31, 2012 balance sheet, Carsort Packaging would i
5)_Comman Stock of $300,000. ¢ Common Stock of $200,000.

}ﬂmmm\ Stock of §75,000. d) Paid-In Capital of $75,000,

hates of no-par common stock for $8,800. Which of the.
1d be mede if the stock has no stated value?

8. Tarrett Company issucd 600 5

oiowingjounaenies wo
@ Cun 5500
8500

Common Stack

) Csic 8.800
Common Stock 600
Paid-in Capitl 8200
) Cash 8,800
Common Stock 600
Paid-in Capital in Excess of Stated Value

d) Common Stack
Cash
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Maddox Company sells teluyisions it a 2-year warranty. Past experience indicates that 2% of
the units sold will be returned daring the warmanty period for repairs. The average cost ofrepairs
under warranty is estimated 10 be $75 per unit. During 2012,the company sold 7,000 units an
average price of $400: During the year, repairs were made on 55 units at a total costof §3,600.

Instructions
a- Prepare the journal entry to record the estimated warranty expense for the year.
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b- Prepare the jour et warranty for the year.
e Joumal entry o record the repairs made iy o
under warrany for the yes
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partnership named ASB House improvement Center on

+ Captal accounl st the Januasy 1, 2017 of $30,00 for Abmad, $45,000 for S, and

570,000 fo
*  Partsiership net income for year ended December 31,2017 wi W
The partnership agrecment provides that:
a. A salary of $30,000 to Ahmed and $20,000 to Sami. No salary for Barhoom.
b, All partners are to receive interest of 10% on beginning capital balances.
¢. Any remaining income o loss is to be divided 20% to Ahmed; 30% to Sami; and 50% to

“Barhoom.

g;,;:;:g fabl to divide et income for 2017, between the 3 parters, by flling the

Ttem Ahmed Sami Barhoom Total |
Net Income to be divided |
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b- In Janu: e
sy ‘;:y ;; ;:',, ifi‘.;’f"r Barhoom decided to exit (leave) the partnership. At that
Sami and $ 120,000 for x;ﬂ:’:‘;'!?phmut!! were : § 145,000 for Ahmed, § 200,000 for
e . The cxit agrcemeit was for Ahmad to buy 70% of
qwe;:‘:‘mmmu buy the other 30% of Barhoom's Share. JourpaZe the
e cxit of Barhoom from the ASB Partneeship
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1. Oil Deposits (el
12 Franchises

uestion S: Multiple Cholces (20 points)

1. Pinar C
Ei zn;n;m r:;chmg anew delivery truck for $45,000. The sales taxes are 2,000
g5 of e company is piid an he sid fthe ek o 1200, Th ke
18130 The truck undergoessaoty esting o $220, What doss i record a
D) cord asthe oxt.

@ $48,540.
. $48.420.
c. $47,000.
d. $46,420.

‘Uneamed Rent Revenue is

6 a contra sccount to Ret Revenue
b. arevenue account.

@ reported as s current lsbilty.
d. ‘debited when rent is received in advance.

Cash collected from customers at AL-Huda Gaz sation during January 2017, was §

315,000 which includes a sales tax {“ﬁ‘- ‘What is the amount of sales taxes payable?
2. $300,000
b, $315,000
¢, $15750
@ 515,000
AL-Bayader Magazine typically sell subscriptions on an annual basis, and publishes six
times a year, The magazine sells 30,000 subscriptions in January at $20 each. What cutry
is made in January to record the sale of the subscriptions?
a. Subscriptions Receivable . 600,000
Subscription Revenue ... 600,000
Cc-sh 600,00
Uneamed Subscription Revenue 600,000
c. Subscriptions Reccivable 100,000
Uneamed Subscription Reveaue . 100,000
600,000

. Prepaid Subscriptions .
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Question 2 (8 points): True or False
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the dae the stock is issved
416, 150,000 shares are autborized, 41,000 skares are issid;and 2,000 shares
reacaquired, the number of owstuding shates is 43,000,
7. The two main sources o stocklolders equity sre investmants contrboted by
stockholders and net income retained in the business. T~
8. When no-par common stock wilh a ststed value is issued for cash, the
‘eomimon stock account is redited for un mount equa 1 the cash procee

uestion 3: Multiple Choices (12 points)
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